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PRT [With Physical Education] 

Q 1). Which ministry has recently launched the ‘Ideas4LiFE initiative’ to promote 

environmental sustainability? 

(A) Ministry of Science & Technology 

(B) Ministry of Environment, Forest & Climate Change 

(C) Ministry of Civil Aviation 

(D) Ministry of Defence 

Correct Answer: (B) 

Q 2). Recently in July-August 2024, Olympic Games 2024 has been held at which of the 

following venues?  

(A) Rome, Italy 

(B) Paris, France  

(C) New Delhi, India  

(D) Dubai, U.A.E. 

Correct Answer: (B) 

Q 3). Give name of the country that has become 101st member of International Solar Alliance 

recently. 

(A) India 

(B) Bhutan 

(C) Nepal 

(D) Bangladesh 

Correct Answer: (C) 

Q 4). Which one from the following is not the Curriculum Development Model? 

(A) Advance Organizer Model 

(B) Hilda Taba’s Model 

(C) Tyler’s Model 

(D) Saylor and Alexander’s Model 

Correct Answer (A) 

Q 5). In which stage, children are able to think about things in terms of consistent physical 

features? 

(A) Sensory Motor 

(B) Concrete Operational 

(C) Pre-Operational 

(D) Formal Operational 

Correct Answer: (C) 
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Q 6). Which of the following is not the main feature of RTE Act? 

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood 

school. 

(B) Completion of Elementary Education even after fourteen years of age. 

(C) Private Tuitions by teachers is not prohibited. 

(D) No child is denied admission due to lack of age certificate. 

Correct Answer: (C) 

Q 7). When does our heartbeat become the fastest? 

(A) During sleeping 

(B) Running 

(C) Sitting 

(D) Eating 

Correct Answer: (B) 

Q 8). Which one of the following statements is correct about wind? 

(A) Wind is produced due to uneven heating on the earth by the sun. 

(B) Wind is produced due to even heating on the earth by the sun. 

(C) Sun does not affect wind on the earth. 

(D) Different pressure does not affect wind on the earth. 

Correct Answer: (B) 

Q 9). Movement of the earth around the sun is known as which of the following? 

(A) Rotation 

(B) Revolution 

(C) Spinning 

(D) Translatory 

Correct Answer: (B) 

Q 10). The human heart is about the size of: 

(A) Average size apple 

(B) Hen’s egg 

(C) Man’s closed fist 

(D) Big almond 

Correct Answer: (C) 

Q 11). Which one of the following animals is called the ship of the desert? 

(A) Camel 

(B) Donkey 

(C) Elephant 

(D) Horse 

Correct Answer: (A) 
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Q 12). Who is the father of the Indian Constitution? 

(A) Mahatma Gandhi 

(B) Jawaharlal Nehru 

(C) Dr. B. R. Ambedkar 

(D) A. B. Bajpayee 

Correct Answer: (C) 

Q 13). Topspin on a volleyball cause _____. 

(A) higher rebound 

(B) shorter bounce 

(C) lower angle of rebound 

(D) less roll 

Correct Answer: (C) 

Q 14). Through what angle measure does the hour hand of a clock turn through, when it goes 

from 4 to 8? 

(A)  90° 

(B)  120° 

(C)  150° 

(D)  100° 

Correct Answer: (B) 

Q 15). If “P   
−14  
→    Q   

+10  
→   R   

 × 4  
→    144”, then the value of P is? 

(A)  38 

(B)  40 

(C)  48 

(D)  44 

Correct Answer: (B) 

Q 16). Health is primarily a responsibility of the ___. 

(A) community 

(B) individual 

(C) state 

(D) parents 

Correct Answer: (B) 
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Q 17). Identify the correct sentence as reported speech (Indirect) for the sentence  

“Raj said, ‘I am going to visit the library today’.” 

(A) Raj said that he was going to visit the library today. 

(B) Raj said that he was going to visit the library that day. 

(C) Raj said that he is going to visit the library today. 

(D) Raj said that he is going to visit the library that day. 

Correct Answer: (B) 

Q 18). ‘Respected Sir’ and ‘Dear Sir’ are ______________ in Letter. 

(A) signature block 

(B) complementary clause 

(C) heading 

(D) salutations 

Correct Answer: (D) 

Q 19). ‘बहुत अभिमान करना’ के भिए उभित मुहावरे का ियन कीभिये – 

(A) आसमान भसर पर उठाना 

(B) आसमान पर िढ़ना 

(C) आसमान के तारे तोड़ना 

(D) आसमान से बातें करना 

Correct Answer: (B) 

Q 20). भनम्नभिखित में कौन-से कभव ब्रििाषा के कभव नही ीं है? 

(A) भबहारीिाि 

(B) सूरदास 

(C) रसिान 

(D) भवद्यापभत 

Correct Answer: (D) 

____________________________ 

 

 


